I-10 ki v eArpir2EZRerdnToHeFTRL 2 T

#isiERR ¥4 8 ¢  jtm B
7 .3 43 E 8 z4%5 o9t i

1 dzr2

Lot o1’ RUyBMBEo R - e o HESBL > Ui~ b pv, AWRTITRLY t 58
LERIGDEs 2 3 Rar@Mfiz= >0 T BITE1T, . SWRREY e AR LA IENE LS 12 d

TTRLE., 9B TR 2EMoFCTEAMA gy ZETIbo L L, 25 :RaTh 4
125 e BT Do hEt b o d > GE B3IV EBRLIHE .
2,585 0 ML

BLeRLta3ds> cFWBaitThon e NT3 iEEP 1rss T dpaing BiLwe, kL Yy
CIIFIL GG, AWML ok fyokoThs , RFEBEN X 253 R ke 1AtkTDH3 .

&?-‘Wf+a,6r+-fr """""" )
8‘X=Wx+aox*fx LR E MMM (2) lP XJI
BEegFacomtn T wll T
3”1‘:‘ (ETx fsw@)=p - L(6Te fo8) =Mt ) u
T:E%P ............ ®

¥ -2 JT BT J}«J‘po THILS

x - 07 ez [Txax)] v L lenfs( & x)=-p ~ad [en )

_Ré;[l;rxx‘;-{—,(gi‘%p)] e ()
3. B#rd@mip@io e
A X A : 4L E &% 4. X
x—4C;X "'C‘X Cfr N4 CP=%'7E;’CT=?‘£*‘I: /1__2_ ]
ﬁ%‘ X= =P (ir g c»éo(/\.m{slff. 6”40{’\'C‘“’ﬁ’l‘“gw“*‘mﬁl+&wa.wﬂ)
1 .l 4 s P Y S (17
AR A O x-2E(p-F (X ~4‘-g-x<a)—x W +4-E xin} =—2ff‘xr )
. [ | - [ . oy L,
(-] X(nn.ziffh’— q‘(X(o) “4E X - X t4 c;xm)}-z & oLy P
@ Xx@=-%p
® xu)=-3*

Q,
o

o= B, o= B /3 + Bp(R-B) /2

31 B2 X G tnsx- 0 T RITHHEP=22v— 20 Pla b Rt o EBrBT LEBE 2 2
WY TothBhe Tov b LE S92 TH3B,

4. Firdpo 1B (Ll Y 2BA)
A ]é(élt%o)—ag(ECw%;&t)=-mt

eLc ARy AT bo pre TS .
TWELG AL, Ry IR ELT3 L

25



1
as .k = 0.3 |
Cr= 0.7 ey
a \ Cr=0.0)0 =3 o7 L
NN 1 [RAN
Y= c =0.0i8 [«
¢ \ -0.022 o \\
C1=0.026
as Cy=0.030 05 a
o Cr=0.034 04 \ Nd
] P Geo e \\
= 0038 - G
03 ore 095 03| e, -
\
" \ \ 2o/ \\ —
— —— .-
\ pcd N s ot S N
01 —
——

\
W

/Y

= HA
el = (P), M)l 3,»] P}, [ﬂ (f) -_;L
(Mad(Wh) = (X, M) (0= a(x]), (8] [ 1 0.0% 005 0010 ag:'s Mzﬁ 0030 0,035 0.040 0065 005
RfRf14 d:(=‘°rr 2kt BAEeH T -

ol 3?7;—\ Tt 1 ]
[~~——{202 ——3
0.000 nooS 0010 005 0020 0025 0030 0035 0. 0. 0.050 \ S
R
—
[~
——
[————

THdt 0
(wd* 0083+ (3= { (w)
+a0It (el }
EXJ= (MM (P] -
T (Ma (MJM’[MJI-' = m }1

(M=)~
4.1 By g %ékﬁﬂ! By o B Lgthik
Tem 4™ To=64"" Tp=000087  f=50"02=4" o Btlido b LT LU E DA 25 bar d & 5 REL LT
Sipe, BBty o A MASERN oML kA co b | %TH - 2,
42 F8 Do K &S 3 FMEN X ¢ BT Lo LEEK
KD Tx Teo BATRIY T, Te £ 73, A5 phToe-Be Lt 50 THBHRIKE LEMBD =5 <
280,35k, Tx , o4k = 2Ty, 3%e, Te ¢t I C Ré 0 THI. U 59fMARE-J L, 3-3 3R
s BT, @5 25 by 3 o
¥DMHT NS 0 ie ¥ g Mlr x
rTed . BB bR o THRTRDE
Ao t@2328R T3 ¢ Ehed,
K Y am sk BT A SRR )
1h1a B 0 8% % o4 U B AE 2= 2K
FUTO AT E5 73 2570~ 1 » BT 1270

® Ragir®

@6

of!

26



